Year 7 Unit 1

Alge bra evaluate find the value of

form to write or produce

OPERATIONS

substitute |replacing letters with numbers to calculate the

order of the laws regarding the numerical value
operations e U el o simplify to reduce to its simplest form
calculate
this is used in algebra too expand multiply terms inside a bracket by those outside

the bracket

ALGEBRAIC NOTATION factorise finding the factors of an expression
the reverse of expand, it is when we write an
unknown value | a value which is not known expression using brackets
represented by a letter in algebra

collect like [you can add or subtract like terms using the
variable a value which can change terms (+/-) | coefficients

represented by a letter in algebra

multiplying | multiply coefficients/numbers, simplify
coefficient a number used to multiply a variable the

terms variables with indices
number that comes in front of a letter,
e.g. 3b means 3xb dividing set up using a vinculum, cancel common
the coefficient is 3, the variable is b terms factors, simplify variables with indices

constant :g:nel;cgng which doesn’t change in a SEQUENCES VOCABULARY

indices power of a variable or number sequence | a pattern of terms/numbers which follow a rule
term a number or letter on its own, or numbers || term each value in a sequence is called a term
and letters multiplied together .. .
R v position the F?Iace it is located
e.g. in the sequence: 3, 5, 7, 9 the term ‘5" has a
like terms terms which are the same apart from their position of 2 (as is the 2" term)
numerical coefficients: they are the same
variable and have the same power term-to- a rule which allows you to calculate the next
termrule |termin asequence if you know the previous
expression a set of terms combined using the term
operations +, -, X or +, there is no “=“ sign
e.g. 4x-3, 5a - 3xy + 17 position- a rule which allows you to calculate any term
3 ) ) to-term that is in the nth position of the sequence
equation where two expressions are equal in value — rule (nt Term)
there is always an “=" sign
e.g.4b =18 generate | to produce or create
b 1xb i .
inear a sequence where the difference between
3p 3xb sequences | terms increases or decreases by the same
amount each time
b3 bxbxb also known as an arithmetic sequence
3b? 3xbxbxb use DINO to find the nth term: find the
difference, use as the coefficient of ‘n’ then +/-
(3b)3 (3xb) x (3 xb)x (3 xb) the ‘one before’ onto the end
a a+b squares square numbers: 1, 4, 9, 16, 25, 36...
b and cubes | cube numbers: 1, 8, 27, 64, 125...
Fibonacci a sequence where the next number is found by
sequences |adding up the previous two terms
solve find the value of an unknown or variable, use the Fibonacci sequence: 1,1,2,3,5,8,13 ...
inverse operations and the balancing method
- 3 triangular | a number that can make a triangular dot
inverse the opposite number pattern, found by adding on one more each
balance an | use to solve an equation, do the same to both time . N &%
equation |sides of the “=“ to eliminate terms from both T '1': 7:: T:::
sides and keep it balanced 1 -3 “e _10
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